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Time Allowed : 3 Hours Max. Marks -70
Pass Marks — 23

(Botany) a-eufa fasm=

Section - A

Max. Marks -35
Pass Marks — 11%

All questions are Compulsory &+ gz aifoard 2

Candidates are required to give answers in their own wards as far as practicable.
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Instruction :
This question paper consists of four Groups i.e., A.B.C And D.
N U U H TR WE FAT A9, F 3R T
All groups are compulsory ¥4 HHE 31fari 2 |



* Group/A/HEs &

Multiple choice /Objective type Questions

agfasfera / aeqfre v
1. Devolopment of fruit without fertilization is called :
(a) Cell division (b) Cell culture
(¢c) Parthenocarpy (d) Parthenogenesis
o= e @ ool &1 e Feonar & |
(a) D1 fevTara (b) =¥ |du=
(c) sFFwd B (d) rfees 594
2. Mendel proposed
(a) Law of linkage (b) 10% energy
(c) Law of inheritance (d) None of these
Hea A uforfes
(a)ygEer=ar @1 a9 (b) 10% <
(c) demafa =1 s (d) &7 & 378 781 |
3. Operon model was proposed by
(a) Watson and Crick (b) Nirenberg
(¢)Jacob and Monod (d) None of these
AR Hdrea s g fan
(a) TreHA R 5 (b) ==t
(c) viFd 3R AT (d) == | 31 =8
4 The book ‘origin of species’ was written by
(a) Lamarck (b) Malthus
(c) Darwin (d) Haldane
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" IR 3TE W feae e ey 2
(a) oA (b) #=™
(c) =iffH (d) gores

h

Which of the following is possible in micro propagation

(a)  Sexual reproduction
(b)  Asexual reproduction

(c)  Multiplication of genetically identical copies
(d) Both (b)and (c)

o ¥ P g ygEE § owg @
(a) «iffr® s7=
(b) aciffre W=

(c) srgaiteres &= wfo) ®1 oM
(d) (b) @ (c) =i

6 33 percent of India’s ( Gross Domestic Product) comes from
(a) Industry (b) Agriculture
(c) Export (d) Small scale cottage industries

RS & HHe O IS 1 33% HET

(a) wEm & (b) & &
(c) fFgfa & (d) &g =¥y HER ST

7. An enzyme catalyzing the removal of nucleotides from the ends of |
(a) Exonucleases (b) Endonucleases é
(c) Hind I (d) DNA ligase

DNA & 1 & gfeedierss &1 ge™ aar vorew @

DNA is

SREEIRI ST (b) TergfFeTS j
(¢) Hind IT (d) DNA @Eirs |




8. Which vitamin is present in Golden rice
(a) Vitamin A (b) vitamin B,
(c) Vitamin C (d) Vitamin D '

(a) Rerfm v (b) ferfas 1, !
(c) foerfm w0 (d) frerf & g
9. Non-biodegradable pollutants one created by ||
(a) Nature (b) Excessive use of resources !
(c) humans (d) Natural disasters j
o — Pl vgve sa= By @ 4'
(2) 55fy 3 B (b) TRt B sreafrE STanT 9 |
(c) 73 g™ (d) ursfess amer & |

10. Energy transfer from one trophic level to another is

(a) 5% (b) 10% |

(c) 15% (d) 20% f

TF I TR H TR O W R SO @7 ey 2y & ;l

(a) 5% (b) 10%

(c) 15% (d) 20% |!
Group- B/@s—q

(very short answer type questions)

@fa oy sod ye) |

i et

11. What the letters P, F|,F>, and F; indicate in Mendel’s heredity Exper%imcms 2
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12. What do you mean by conservation of wild life ?

T S EREV I T W € 7 ; 02
13 Fill in the blanks l
(i) Removal of anther in flowering plant is------------ §|
(i1) Recombinant DNA technology is also popularly called ag ~-----—- g 02
et e B R |
(1) g=ft oredl & gHER Bl gSH &I 9hhar H ————— Fed & |
(i) ReF= DNA 789% & —— § w1 o & |
Group-C/@s — ¥ |
(Short answer type questions) rl
(eg ST g ) |
14. Match the column -l with column-Il and select the correct option ifrom the
code given below f‘ 03
|
Column-| Column -li |
(A)Light (i) Xerophytes |
(B) Hibernation (i) Abiotic factor |
(C)Opuntia (iii) Slow metabolic activities |

1. (A)-(iii),(B)-(i), (C)-{ii)
2. (A)-(ii), (B)- (i), (C)- (i)
3. (A)- (i), (B)-(i), (C)-(iii)




wa-1 @ frem w1 & gl a ok AR Ry 0 o @ W e w1 g9 =

w1 wa— I |
(A) vummE (i) 7wefig !
(B) wafazr (ii) o wa |
(C) siigArear (iii) &% soo=dh frm

(1) (A)-(iii), (B)-(i),(C)-(ii)

(2) (A)ii), (B)- (iii), (C)- (i)

(3) (A)- (i), (B)-(iii), (C)-(ii) {
é

15. What is biotechnology ? Describe ‘d’s two application in the field of |
Agriculture. 03 ,
R T LT T e —

16. Write about various steps involved in development of improved variety of

Crops.
I 59 @ Bodl @ Rem @ s w3 favg & fog |

GROUP-D /&€ — =

T————

(Long answer type questions)
(@rdf S8 gwA) g
17. What is double fertilization ?describe development of embryo and[

endosperm.

g w1 2 ? 9o R gy B o™ o aob =

|



OR/ 3orar
Describe the process of micro Sporogenesis in angiosperm .
I 9Edl § S 9 e |
18. How did Hershey and Chase prove that DNA is a genetic material ?
ﬁm%%wﬁﬁﬁﬂ%m%DNAwmﬁzﬁW% '
OR / segar
Explain the following with example

(a) Co-dominance
(b) Incomplete dominance

STMEXY B WY GRAT B |

(a) wHe—yarfaar
(b) el — yarfaer

05
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Biology
(Optional) Section — B
(Zoology)

Max. Marks -35
Pass Marks — 11%

All questions are Compulsory WY ys aifarf 2

Candidates are required to give answers in their own words as far as practicable.

Wl YAh SR B W g UYT AR YI GRAT 9wy B |

General Instruction :

Total Makrs 35 All"c_;uestions are compulsory Time 17 hrs.

Total number of question - 18

01 (one) marks -10 02 (Two) marks — 03 03 (Three) marks -03

' 05 (Five) marks - 02

Group- A Gvug — 3

Questions 1 — 10 are of one marks each. Objective type question (Multiple choice- at least four
choices out of which one choice is correct)

TR {1 W 10 B ol Ud-1a ofe PeiRa €| agRieedn wer § ¥ ue 6 9w
BT T BN |
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Group - ‘A’
grg — g’

e s il

Select one correct answer I x10=10
fP¥ v W& R @y T
The Klinefelter’s syndrome has chromosomal constituent
(@) 2A+XX (b) 2A +XXY (©) 2A+Y (d)PA-XY
FeTreey M § meram 2 2 -
®) 2A+XX @) 2A +XXY M 2A+Y @) |24-_xYy

i
Source of Eco R1 enzyme is

(@) BamHI (b)E. coli(c) Both a and b (d) Hind IT1
EcoRI &1 55 2

(@) BamHI (b)E.coli(c) aw bami (d) Hind [l

Which one is wrongly matched -

(@) Adenine, Thymine - Purines (b)  Thy mine, Urag.il -
Pyremidin (c) Uracil, Cytosine - Pyrimidines

(d) Guanine, Adenine — Purines

TH 9 B e & —

@) vfefm, arre - R (@) omrde NS 4+ U

() . N — AR (3) g, e L g

The immunoglobulin present in mother’s milk is

@ IgA () D () IGE  (d) IeM

9% Y N Uy W ggATAg o # —

(@ IgA @) IgD (m IgE @ IgM

Acrosome is found in

(@) Sperm  (b) Ovary (¢) Uterus (d) f estis

ﬁ/@



THIHHE 9T ST & — |

®) TP EF (@) aeny (M g d @ vz

The process of production of sperm is known as
i

(a) Spermatogenesis (b) Oogenesis (c) Parthenagenesis
(d) None of these

BT T BT UHA F By |

®) T (@) srew (M) SRR
&) T | 315 78

AIDS is caused by

(a) Trichosomonas (b) HIV (¢) Hepatities G
(d) Bacillus Anthracic

AIDS &1 s 2 ?

@) TEmEE @ HIV () testels

(&) e vaRm

Which Vitamin is transferred in golden rice

(a) Vitamin A (b) VitaminBj, (c) Vitamin C

(d) Vitamin D

Tieed WEW B W ey o g -

(®) fer= A (@) fIers By, (7 | fFerdm C
@) fRe=D

Sertoli cells are regulated by the pituitary hormone known as
(a) FSH(b) GH (c) Prolactine (d) LH

TRETE! BIRTT BY P B ars foger g~ & —

(@) FSH(b) GH () urEEH (d) LH

|
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10.

(a)
(d)

1L,

12,

13.

14,

13,

The cross where F 1 individual is crossed with recessive ¢

called

Back Cross (b) Test Cross (¢) Dihybrid Cross
Monohybrid Cross

|

1

ne 1s

F, W%WWW@WWWFWWWC

a9 39 Feg ¥ —

(®) % =9 @ <= g (M feey By

(&) s 319

Group - ‘B’
g — g’

ferery ST e

Very short answer type questions

Name two sex linked disease.
a1 o7 weer feR 3 9% g
DNA finger printing requires
regionhas __ repeats.
What is food chain ? Give one example.
HTEN &S 7 8 ? UF IqTeeey & |

Group — ‘C’

qa%E - v
Y I ye

Short answer type questions

Describe the structure of antibody.

VEIETST 1 6REAT 7 g a5y |

Label the parts of sperm givenas 1,2,3.4.5 & 6.
fev o % 1, 2 3. 4,5 3R 6 B IHFT Y|

satellite DNA.
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16. What is gene therapy ? Illustrate using example of Adendsine
deaminase ( ADA) deficiency,
WWW%%WW(ADA}%%W%

. |
I SR=T & | |
I
%
GROUP-D = - = §
!
(Long answer type questions) g
|
(@€ sd ge) ‘ 5x
2=10 ;

1

17. Describe two basic population growth forms found in nature.

TR A W A e i @ e e mﬁm#!
OR / srerar |

Discuss the Biotic components of pond ecosystem. |

wm%mﬁﬁwﬁm@$mﬁﬁzﬁmaﬁmzﬁj

I8.  What do you understand by multiple allelism ? Write onejcommon

example of multiple allelism ? |

agﬁmﬁwvwﬁ%‘?a‘g’%mmwél ]7@

>@®




OR / steyar

What are homologous and analogous organs
example.

WW@WWW%?WWW?

sy

? Explain by giving



